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UPCOMING ONLINE BATCHES
April 2022

06 April 2022

10:30 AM to 12:30 PM
BANK ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

07:30 PM to 09:30 PM
RBI ONLINE LIVE CLASS

BILINGUAL

13 April 2022

BANK ONLINE LIVE CLASS

03:00 PM to 05:00 PM

SSC ONLINE LIVE CLASS

11:30 AM to 01:30 PM

BANK ONLINE LIVE CLASS

(English & Bengali)

07:30 PM to 09:30 PM

BANK ONLINE LIVE CLASS
(English & Odia)

BILINGUAL

05:30 PM to 06:30 PM

CCC ONLINE LIVE CLASS
(NIELIT COMPUTER COURSE)

20 April 2022

BANK ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS
(English & Bengali)
01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS
(English & Odia)

BILINGUAL

10:30 AM to 11:30 AM

ENGLISH SPEAKING COURSE 2022

(ENGLISH SPEAKING COURSE)

27 April 2022

07:30 PM to 09:30 PM
BANK ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

BILINGUAL
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There are six members A, B, C, D, E and F in a family which con‘msﬁ
of only one married couple and three generations. Each member
has different number of coins among 4, 8, 11, 13, 16 and 19. Person
with 4 coins is the paternal uncle of D. The only sister of D has two
coins more than the son of C. The sibling of the person with 13
coins has one daughter. C is a female member. No female has 8
coins. Person with 16 coins is elder than F, who has 19 coins such
that both are not in same generation. Neither A nor E is married to
C. E is younger than A such that both are not in same generation.
t$ YRAGR # &8 HSET A, B, C, D, E3X FE, OUH Fad s
faarfga aer 3iv fisr difear &1 v+ FeTT & 9™ 4, 8,
11, 13, 16 3X 19 & FHT AT -3 TEAT 81 4
QT areT saffd D &1 9T 81 D T SHald! 98T & U C
F 97 ¥ o RAFF few 81 13 RAFa! aa safFa @ s
& &1 cUF ARRET G ¥ Far o AR ¥ uw 8 R
et 81 16 Tl arem =afFa FR @31 8, W 9@ 19
ﬁ? | F ar a3k

‘ ar
3 %ﬁaﬂ%r-r%l E,A;Taﬁa%,ﬁ#ﬁ?a’l?ﬁwé’r
|
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How is E related to F? a. Father b. Aunt c. Grand
father d. Brother e. None of these.

OOl IOC e de OO  \Who among the following doesn’t have more
l than 13 coins? I. BIl. Alll. Ca. Both I and Il b.
£ () (13) D(+) (1) Only Il c. Both Il and lll d. Only Il e. Both | and lli

l

F(-)(19) The person with 16 coins is the of person
with lowest number of coins. a. Sister-in-law b.
Sister c. Son d. Niece e. None of these.
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S#T — S i1sthe son of T.

S@T —T is the child of S.

S$T —Siselder than T.

S*T—- S is the husband of T.

SO©T — S is the parent of T.

S&T-T Is the daughter-in-law of S.
S%T-S is the wife of T.

IfC% DOE*A©Bandtheageof Cis 70
years, then what could be the age of E?

a) /7 years

b) 75 years

c) 40 years

d) 80 years

e) 72 years
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S#T — S i1sthe son of T.

S@T —T is the child of S.

S$T —Siselder than T.

S*T—- S is the husband of T.

SO©T — S is the parent of T.

S&T-T Is the daughter-in-law of S.
S%T-S is the wife of T.

If X*Y©Z$U#M and X#R@M, then how X
Is related to U ?

a) Grandfather

b) Uncle

c) Aunty

d) Sister

e) None of these
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X@Y- X is the child of Y.

X%Y- X iseldertoY

X&Y- X isyoungertoY

X$Y- X is brother of Y

X*Y_ X is wife of Y X*F$D&QSF; E@X; F% D*C!IB; WH#D;
X#Y—- X Is sister-in-law of Y A*K@W C*"W

X1Y- Xisson in law of Y.

XAY-X 1s not the sibling of Y
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If the age of F is 45 years and age of Q is 40 years, so what can be the ‘!I
age of D?

a) 44 years b) 43 years c) 47 years

d) 39years e) None of these

If G@D then how X is related to G?
a) Uncle b) Grandmother c) sister-in-law
d) Aunt e) None of these

How C is related to F?
a) Bother In law b) Sister in law c) Brother
d) Uncle e) cannot be determined
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A x B means B 1s mother of A
A — B means B iIs brother of A
A + B means B Is sister of A
A + B means B Is father of A

If the expression M x N + R + T Is true, then which of the
following is true?

a) M isson of R

b) Nisauntof T

c) M is granddaughter of T
d) T is father of N

e) None of these
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A x B means B 1s mother of A
A — B means B iIs brother of A
A + B means B Is sister of A
A + B means B Is father of A

A)Y+Q-T+R
D)T-Q-VY-R
OOTxM-R+Q
AT+M=+=Y+Q
e) None of these

Which of the following means “Q’ is brother of ‘T°?
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A x B means B 1s mother of A
A — B means B iIs brother of A
A + B means B Is sister of A
A + B means B Is father of A

If the expression M — Q — D + F + C, then which
of the following is true?

a) C Is daughter of F

b) F is niece of C

c) C is sister of F

d) D is father of M

e) None of these
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PUZZLE
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PQRSTUVIRWIHFHANTH
odt 124t 15a°r 174, 21, 244t 274
31 20 AT 3 ST eI 3reTeT AIONEY
9 YT 91 ST & A fehed ST 78T fh
3H AN A &1 011 Q, V& AT &=
qgol ITHT 9T ATAT g | Shael died eafahd v
IRWHF DT I RIS LI P, RF FH
q FH og & a1¢ SATAT ¢ | Fael ar
g TIRsFATammww Tl s
U TH T AGT ST § AR fafd| P,
TH 9ge A fpdl vr al@ ik w &
d1¢ &Y fhd T g Y I 9 ST
g I FaA THIRaatsiRuF
=1 91T I ST R R, U & 38T ITET
U A ST B

PQ,R,S,TU,V, and W go for a trip on
different dates among 9th, 12th, 15th, 17th,
21st, 24th, 27th, and 29th in the same month
but not necessarily in the same order. Q goes
for a trip three days before V. Only
threeperson go for a trip between V and W. P
goes at least six days after R. Only two
persons go for the trip between Tand S. S
doesn’t go on an even numbered date. P
goes for a trip one of the dates before T and
one of the dates after W. At most one person
who goes for a trip between S and U. R
doesn’t go for a trip adjacent to U.
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PQ,R,S,TU,V, and W go for a trip on
different dates among 9th, 12th, 15th, 17th,
21st, 24th, 27th, and 29th in the same month
but not necessarily in the same order. Q goes
for a trip three days before V. Only
threeperson go for a trip between V and W. P
goes at least six days after R. Only two
persons go for the trip between Tand S. S
doesn’t go on an even numbered date. P
goes for a trip one of the dates before T and
one of the dates after W. At most one person
who goes for a trip between S and U. R
doesn’t go for a trip adjacent to U.
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Which among the following person goes for a
trip just before W? A. The one who goes five
days before T B. The one who goes three days
after Q C. The one who goes just after U D. RE. S

After how many days V goes for a trip with
respect to T? A. Three B. Four C. Five D. Six E.
Seven

Four of the following five are related in a certain
way and hence form a group. Find the one which
doesn’t belong to that group?

A. P-15th B. S-27th C. U-29th

D. T-17th E. V-12th
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How many persons go for a trip between Q and S?
A. As many persons go for a trip after S

B. As many persons go for a trip between W and R
C. As many persons go for a trip between T and U
D. As many persons go for a trip before P

E. None of these

Number of persons who goes on a trip between V and W is
the same as going before_ ?

A. The one who goes just after S

B. The one who goes just before Q

C. The one who goes seven days after T

D. The one who goes Four days before U

E. None of these
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HId 3 ldl- mf@rﬁ#%ﬁ sn-?éz 31T§QT Seven different apps namely Swiggy, Just eat,
aclia®, SIfA S, Hﬁﬁﬁmmmﬁ Door dash, Deliveroo, Domino’s, Zomato, and
?Wﬁﬁﬁ@é’fw*mm 3roTeT feat Uber eats delivers food on seven different

ﬁ QT fEellat g % ol fehet STHO Hﬁﬁ? S'Gﬁ days of the same week starting from Monday,
HH H B mézvfr%r»hafraﬁz’rﬁehﬂﬁ?r but not necessarily in the same order. Uber

g ETFﬁ%'I IBAR B o dY Zomato A e eats delivers three days before Zomato.
Uber éE'\‘T %ﬁlﬁ? EF{?IT%I Zomato & "-IW Neither Zomato nor Uber eats delivers on
IELCIGES Eﬁ' qrel U T T&AT Swiggy & dI¢ Thursday. The numbers of apps delivering

Wﬁﬁmﬁﬂw@rm#w%l feqeit before Zomato is the same as the number of

3T 3T 3er & T haer a1 0T Fehaw g %I SR apps delivering after Swiggy. Only two apps

39T & a1¢ fordl) ve Tt a7 fEeflar 3 SIfAAST deliver between Swiggy and Door dash. Just

%@?’F\ q T feeT gga feellax T=IWFIT%'I sSifAAST eat delivers on one of the days after Door

& did diq Uber é‘é:'\q' C Y RECICRUG §'§'I dash. Domino’s delivers on one of the days
before Deliveroo. Uber eats was not delivered
immediately after Domino’s.

="0co
S=>-00
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Seven different apps namely Swiggy, Just eat,
Door dash, Deliveroo, Domino’s, Zomato, and
Uber eats delivers food on seven different
days of the same week starting from Monday,
but not necessarily in the same order. Uber
eats delivers three days before Zomato.
Neither Zomato nor Uber eats delivers on
Thursday. The numbers of apps delivering
before Zomato is the same as the number of
apps delivering after Swiggy. Only two apps
deliver between Swiggy and Door dash. Just
eat delivers on one of the days after Door
dash. Domino’s delivers on one of the days
before Deliveroo. Uber eats was not delivered
immediately after Domino’s.
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o[ A
on | Do

Swiggy

Uber eats

Thur Deliveroo

Doordash

Zomato
Just eat

Which of the following app delivers immediately before
Swiggy? a) Domino’s b) Uber eats c) None d) Deliveroo e)
Just eat

and apps deliver adjacent to Zomato. a)
Deliveroo and Door dash b) Swiggy and Deliveroo c) Just
eat and Door dash d) Door dash and Swiggy e) Deliveroo
and Just eat

How many apps deliver between Uber eats and Deliveroo?
a) One b) Three c) Two d) Four e) None

app delivers on the last day of the week. a) Deliveroo

b) Just eat c) Door dash d) Swiggy e) Domino’s

The number of apps delivering between Domino’s and
Door dash is the same as before . a) Deliveroo b)
Zomato c) Just eat d) Uber eats e) Swiggy
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ATd egTad AT | 37, 919, B, ST, 4T,
thetel 3R i, Tk &) TeaE H I@IAR A
ATAIR T I Tl H HafleT T F&T 7 swer
da &, AfFra T 78 fr o3t wa & g1 v
JUAR & Igel FH&T H JTT 5, et WAaTR A
3UTeYd A8t @1aT ¥ 3797 3T AN F N Fao
U cgfad H&T A AT a1 £, ST IAaR &Y
HeTT 7 AAT AT QAT & | STIHT U U Ham &
3YTEAT gt aTel SATFAAT T HEIT I & 91
I T&AT F AT ¢ | 919 hoter @ S qga 3iX
&aT & qidl 91¢ H&T A AT g | ST AR ar &
o=T SETT & 1T olet ATl SATFaA) T HEAT
ST IR AT F AT AN TEAT T TF FA T
ST & 916 tholdl FelTH 3728 HidT ¢l

wrd"ol

..-ef-‘

Seven persons viz. Abhay, Bob, Cherry, Diana,
Eva, Faizal and Geet, attend music class in
seven days from Sunday to Saturday of the
same week, but not necessarily in the same
order. Abhay attends the class before
Wednesday, but doesn’t attend on Sunday.
Only one person attends the class between
Abhay and Cherry, who doesn’t attend the
class on Sunday. The number of persons
attending the class before Diana is the same as
after Geet. Bob attends the class immediately
before Faizal and after Eva. The number of
persons attending the class between Diana
and Eva is one less than between Diana and
Bob. Faizal attends the class after Diana.
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Seven persons viz. Abhay, Bob, Cherry, Diana,
Eva, Faizal and Geet, attend music class in
seven days from Sunday to Saturday of the
same week, but not necessarily in the same
order. Abhay attends the class before
Wednesday, but doesn’t attend on Sunday.
Only one person attends the class between
Abhay and Cherry, who doesn’t attend the
class on Sunday. The number of persons
attending the class before Diana is the same as
after Geet. Bob attends the class immediately
before Faizal and after Eva. The number of
persons attending the class between Diana
and Eva is one less than between Diana and
Bob. Faizal attends the class after Diana.
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B Who among the following person attends the class
W on Sunday? A) Cherry B) Geet C) Eva D) Bob E) None
o These

How many persons attend the class between Bob

and Diana? A) Same as between Cher.ry and Faizal. B)
Three C) Four D) Same as between Faizal and Eva E)

Saturday Faizal .
_- The number of persons attending the class before

Cherry is one more than the number of persons
attending the class after . A) Eva B) Diana C)
Geet D) Faizal E) Bob

None of These
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— [o=r
Do [Fersons

Wednesday

Who among the following person attends the class
immediately before Cherry?

A) The one who attends on Sunday B) Geet C) Bob D) The
one who attends on Tuesday E) Faizal

Which of the following statement is true with respect to
the final arrangement?

A) Geet attends the class on Monday

B) Cherry attends the class immediately after Faizal

C) Faizal attends the class on Thursday

D) Abhay attends the class before Eva

E) Only one person attends the class between Bob and
Cherry
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wwﬁ-‘cr A, B, C, D, E 3R F 9YHAR ¥ AfaaR
aﬁma;ﬁfar—erﬁ?l’mq’rawaﬂaﬁ%l
3G IoT 3TCI9T-3TeleT 3T & HYIS @S- AT, &,
S, T, mna"raﬁtthmlaﬁ’raé’rﬁ;mﬁ
AT 3 FH F gl F ¥ ofier o1 Y ohers
Tilga arel Safad § diet foet gga @ligr iy Y1 F
¥ 9go @ T FTFAAT HT €T, € & 91¢ @S
T A TFAT T HEAT & WAL | I[ATal LT I
Qe et arer 3R ¢ F AT Faer vk ReT F1
AT g1 &Y T Y e @ arad aiad &
AT gge @A M0 FfFd o @her Srar &1 A
LI Y qYemes @HEY| € AR T3 Y QYRR Tt
@iear gl A & 9ol o1 &1 grene @dica arer
gfFd & & ygol GET| T D AR A ER
oTer TaT Y 9YeITeh WIETI D A E § 9gel WlleT

AfeheT B T Tge LT
. E¥TY
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Six persons- A, B, C, D, E, and F are bought the
dress on different days of the week starting from
Monday to Saturday. They bought different color
dresses- Red, Green, Orange, Blue, Pink, and
Yellow. All the information is not necessarily in
the same order. F bought on three days before
the one who bought the Blue color dress. The
number of persons bought before F is the same
as the number of persons bought after C. Only
one day is there between the one who bought
Pink color dress and C. The one who bought a
Green color dress is bought immediately before
the one who bought orange color dress. C does
not buy the orange color dress. A bought
immediately before the one who bought a

~ yellow color dress. Neither D nor E bought red
+ color dress. D bought before E but not before B.


http://www.mahendras.org/

SBI CLERK 2022 / /mmat 11:30 AM/

Six persons- A, B, C, D, E, and F are bought the dress
on different days of the week starting from Monday
to Saturday. They bought different color dresses-
Red, Green, Orange, Blue, Pink, and Yellow. All the
information is not necessarily in the same order. F
bought on three days before the one who bought the
Blue color dress. The number of persons bought
before F is the same as the number of persons
bought after C. Only one day is there between the
one who bought Pink color dress and C. The one who
bought a Green color dress is bought immediately
before the one who bought orange color dress. C
does not buy the orange color dress. A bought
immediately before the one who bought a yellow
color dress. Neither D nor E bought red color dress. D
bought before E but not before B.
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Who among the following person bought an Orange color
dress? a) The one who bought immediately before E b) The
one who bought immediately afterBc) Fd) Ce) B

Four of the following five are alike in a certain way. Who
among the following one does not belong to the group? a)
Tuesday-B b) Wednesday-A c) Thursday-F d) Saturday-D e)
Monday-E

How many persons bought the dress between B and the
one who bought the Green color dress? a) As many
persons bought the dress between A and E b) Two c) One
d) As many persons bought the dress before D e) None

On which of the following color does F buy? a) Orange b)
Green c) Yellow d) Blue e) Pink
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